
Scenario 1 Scenario 2 Scenario 3

Fewer than K – 1 
participate

Exactly K – 1 participate K or more participate

Participate Pay cost; don’t receive 
benefit

Pay cost; receive benefit
benefit
Pay cost; receive 

Don’t participate Don’t pay cost; don’t 
receive benefit

Don’t pay cost; don’t 
receive benefit

Don’t pay cost; receive 
benefit
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Note: K = the number of individuals that must participate for the pro-democracy protest to be successful. Each cell 
indicates what will happen in each of the three possible scenarios depending on whether the individual chooses to 
participate in the protest or not. The shaded cells indicate the individual’s best choice in each of the three scenarios. 
It’s assumed that the value of the benefit received by the individual when the protest is successful outweighs their 
cost of participating in the protest.


